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Query Errord! 0

ERROR MNo[7473]
ERROR Msg [Too high level of nesting for select]

SELECT thYEARMOMTH thelick count thelick unigue count thaction count CASE WHEN thelick count = 0 THEM O ELSE truncate{100%th action_count/th click count+0005,2) EMD as cvr
Jthtotal cost SASE WHEN thaction_count =0 THEN O ELSE truncatelth tota I_cost/tb.action_count+0.005,2) EMD as cpa thindirect_effect ZASE WHEM th_rresign_count IS MULL THEM O ELSE
th_r.resign_cournt END as resign_ count CASE WHEN thaction count = 0 OR th_rresign count [S MULL THEM 0 ELSE truncatel100#th r.resign_count/thaction count+0.005 2) EMND as resign percent
FROM (SELECT TB1 YEARMOINTH, sum(TB1 click_count) AS click_count, suml TE1 click_unigue_count) AS click_uniqus_count, sum(TB1 action_count) AS action_count, sum(TB1 totalcost) as

total cost, sum(TB1indirect_effect) AS indirect_effect FROM SELEGT DATE_FORMAT(stat date, %1%m) AS YEARMOINTH
,sum(click_count_pc)+sum(click_count_d)+sum(c|ick_count_v)+sum(c|ick_count_e)+sum(cIick_count_a)+sum(click_count_i) A3 click_count
sumlclick_unique_count_pcHsumlclick_unique_count_dj+sumlclick_unigue_count_ v+sumlclick_unigue count_el+sumlclick_unigue_count_a+sumlclick_unique_count_i) AS click_unique_count
sumlaction_count_pcHsumlaction_count_d +sumlactioncount_v+sumlaction_court_eHsumlaction_count_a+sumlaction count_i) AS action_count
,sum(click_cost_cI_pc)+sum(c|ick_cost_cI_d)+sum(cIick_cost_cI_V)+sum(cIick_cost_cl_e)+sum(cIick_cost_cl_a)+sum(c|ick_cost_cl_i)+sum(action_cost_cl_pc)+sum(action_cost_cI_d)+sum(action_cost_cl_v)+sum(acti-
AS total_cost ,Sum(indirect_effect_d)+sum(indirect_ef'fect_v)+sum(indirect_effect_e) A3 indirect_effect FROM stat_log 2016802 LEFT JOIN media_cwner on

(stat_log 201602 m_cwner_id=media_cwner.m_owner_id) LEFT JOIN media_group on (media_owner.g_id=media_group.g_id) WHERE c_owner_id=201 UNION ALL SELECT DATE_FORMAT stat_date, % %m’)
AS YEARMONTH sumiclick_count_pciHsumiclick_count_dMsumiclick_count vi+sumiclick_count_el+sumiclick_count_a+sumiclick_count_i) A3 click_count

,Sum(click_uniq ue_count_pc)+sum(click_unique_count_d)+Sum(c|ick_unique_count_v)+sum(click_unique_count_e)+sum(click_unique_count_a)+sum(c|ick_unique_count_i) A5 click_unigue_count
sumlaction_count_pcHsumlaction_count_d+sumlaction count_v+sumlaction_count_esumlaction_count_atsumlaction_count_i) AS actioncount

sumlclick_cost_cl_pc+sumiclick cost_cld+sumlclick_cost_clv+sumlclick_cost_clelsumlclick_cost_cla+sumiclick_cost_cli*sumlaction_cost_cl_pcl+sumlaction cost_cldMsumlaction_cost_clv+sumlacti
AS total_cost sumlindirect_effect_dHsumlindirect_effect_vHsumlindirect_effect_e) AS indirect_effect FROM stat_log asp 201602 LEFT JOIN asp on (stat_log asp 201602 asp_id=asp.asp_id) WHERE
c_owner id=201 AND (aspasp_media_flz is null OR aspasp_media_flz = 0) UNION ALL SELEGT DATE FORMAT(stat date, %7%m’) AS YEARMINTHsum{click_count) as click_countsumiclick count) as
click_unigue_countsumlaction_count) as action_count,sumlclick_cost_clHsumlaction_cost_cll as totalcost,0 as indirect_effect FROM stat_logasp_media_ 201602 LEFT JOIM asp on

(stat logasp_media 201602 asp_id=aspasp_id) WHERE c_owner_id=201 AND aspasp_media_flg = 1 UNION ALL SELECT DATE_FORMAT(stat_date, %7%m’) AS YEARMINTH
,sum(click_count_pc)+sum(click_count_d)+sum(c|ick_count_v)+sum(c|ick_count_e)+sum(cIick_count_a)+sum(click_count_i) AS click_count

sumlclick_unique_count_pci+sumiclick_unique_count_d +sumlclick_unigue_count_v+sumlclick_unigue_count_el+sumlclick_unique_count_a+sumlclick unigue_count_i) AS click_unique_count
sumlaction_count_pcHsumlaction_count_d +sumlactioncount_v+sumlaction_court_eHsumlaction_count_a+sumlaction_count_i) AS action_count

sumlclick_cost_cl_pcsumiclick_cost_cld +sumlclick_cost_clwvHsumliclick_cost_cleHsumlclick_cost_clasumiclick_cost_cl_i+sumlaction_cost_cl_pcl+sumlaction_ cost_cldHsumlaction_cost_clv+sumlacti
AS total_cost ,Sum(indirect_effect_d)+sum(indirect_ef'fect_v)+sum(indirect_effect_e) AS indirect_effect FROM stat_log_ listing 201602 LEFT JOIM listing on (stat_log_listing_201 602.Iisting_idZIisting.Iisting_id)
WHERE c_owner_ id=201 ) AS TB1 WHERE TB1.YEARMONTH is not null GROUP BY TE1 YEARMONTH UNION ALL SELECT TE1 YEARMONTH, sum(TB1 click count) AS click_count,

suml TE1 click_unigue_count) AS click_unigue_count, sumlTE1 action_count) AS action_count, sum(TB1 totalcost) as totalcost, sum(TB1 indirect effect) AS indirect effect FROM. SELECT

DATE_FO F{Mf'-\'l'(stat_date,’%\r“%m’) A YEARMINTH ,sum(click_count_pc)+sum(c|ick_count_d)+sum(click_count_v)+sum(cIick_count_e)+sum(click_count_a)+sum(click_count_i) AS click count
sumlclick_unigue_count_pci+sumiclick_unigue_count_d +sumlclick_unigue_count_v+sumlclick_unigue_count_el+sumlclick_unique_count_aH+sumlclick unique_count_i) AS click_unique_count
,sumgaction_count_p§)+surr}(action_coun‘t_{:i)*’sur;n(action_count\_v)+su{m(action_coun:c_e)+s{um(action_cour\Tt_a)+?um(action_cognt_i) ::'3\8 action_count . , . , . ,
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